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152X 4, 5=684(JL)
. 18+2=9(cm?)

4,

<1

o,

3

1

G ]

(D FmEAR

R

.0.5

—~feo

9X6=>54(cm*)

RIS 4 X 3=12(cm)

B2 dem,
(12X12+12X44-12X4) X 2=480(cm®)
480—4X4X 2=448(cm®)
2. KAGMEAEMHRER
Btk
SRS S
40, 3X4X0. 4X8=15. 36(kg)
15. 36kg<<20kg %

. 3m=30dm

30X 2X4X20=4800(dm*)

(D31, 5+2) X4=26(dm)

(2)(3X2+1.5X2) X2=18(dm?)

ORI K R & TR 80— 10X 2=60(cm) 5 &
Jg 60— 10X 2=40Ccm) ; &N 10cm,

60X 10X 2+10X 40X 2460 X 40=4400(cm®)

R RBNERM 3X3=9 1,

2. KAEFMIEFREHFRER
%t ¥ 4 3]

45X45X6=12150(cm?)

ORI 45X12=540(cm)

540cm=5. 4m

5. 4m>4m, B AR T

(1)60X 25=1500(m*)

(2)60X 1. 2X2425X 1. 2X2=204(m*)

(3)(60+25) X2=170(m)

 PHE K I7 A K 2 10em, $& Sem, 5 Sem,

FHFHE . (10X5+-10X5+5X5) X 2=250(cm?)

1.5 6 6 1.5 1.5

66 (6--4) X (6+4) X 2=40, 5(cm’)
BREFER

1.5 0.5 1 0.5 1.5 0.5

(1.5X0.540.5X0.5) X2+0.5X (0. 5+0. 5) X

Uj/
oF



—

2+1.5X0.5X2=4, 5(dm?)

o3

2. (8 X8+8X5+8X5) X2+2X2X4=304(cm?)

3.(1.2X0.5+1.2X0.8+0.5X0.8)X2—0.4X 2.

0.4+4X0.4X4=10, 16(m?)

4. 2146 B 65 7R (9 T AL 60 X 30+ 30 X (60— 20) + | 3,

30X50=4500(cm?)
LR TE AR - 30X (30X 3) =2700(cm?)
2700X 2=5400(cm?)

4500 X 2=9000(cm?)

22 AT TR . 60X 30450 X 30=3300(cm?)

¢ﬁmw&@z;zﬁﬁmﬁﬁaaoxgo+mo—<m;{

20) 1% 30=900(cm?)
TR (R T : 5400+3300-+900=9600(cnt’ )
3. KA IE A EA KR
¢
LK % &
177X 177X 30=939870(m’)
2. 240+12=20(cm)
2020 X 20=8000(cm®)
3.2X1X0. 6X500=600(g)
4. 3m=30dm 1.5m=15dm
30X 3X15+2=675(H)
R
3.2X0. 025X 200=16(m*)
3. KA IEF A ERR
(2

5+2=2.5(dm?) 2.5dm’=0. 025m’

wl

LA K 9%

240+15+5=3. 2(m)
2. 480+ 4=120(cm’)
3.32+(2X2)=8(dm)
4. (4X2X0.8)+(8X0. 2) =4(m)
5. (20X5X5)+(8X5)=12. 5(cm)

3. K FNIE A AR
(3

L Gi—Hufi

. 12. 096dm® =12096cm’

25ecm=0. 25m 24dm=2. 4m
15X0. 25X 2.4=9(m*) 9X500=4500(H)
10m=100dm 10cm=1dm
1X1X100X7.8=780(kg)

45cm=4. 5dm 32em=3. 2dm

0. 64m=6. 4dm

4.5X3.2X6.4--120=0. 768(dm*)

.0.8m=8dm 50cm=>5dm

(AX4X4)=+(8X5)=1.6(dm)

ARFL 1dm=10cm  10X10X10—5X5X5=875(cm’)

R —A/NEFIRIG  BRIE R AR AR
FrLl, T 1 X 1X6=6(dm?)
3. KAEFIEF AR
(4)

> >

24dm® =24000cm’®  24000-+-40-+-30=20(cm)
40cm>30cm  30em>28cm  20ecm<Z25cm
AREH T G TR AL .

12096+ (28X24) =18(cm)
PR i AN B A A 4L T8 5 23 A 28em, 24em,
18cm, 53X 4> AL &% ZF #F #9 K& 25em, & 20em, G
18cm AHEL » BIA/INT L BT LARERS R .

. 12. 8dm®=12800cm’®

12800-+-20-+20=32(cm)

32>>30 20>>18 20>19 HEHTF.

. 20cm=2dm, —HET LUk 8-—2=4 (), AT LAJK 6=

2=3H), — B LM 4 X3=12(H) , il F 11+
2=5eeeee 1, ULHH—JL AT LUK 5 2 S 2 T A% 4 X
3X5=60(H) GX HUNRE AL & iy A4 FRER LLUIE J5 14
AR AR 38 57 1A 8 s ) 1 ) )

.0.6m=60cm 0.4m=40cm 0.2m=20cm

40=-8=5 60+5=12 20-+2=10
5X12X10=600(£)

U1 -
Qw \\'(fi,
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z W s

. (1)30X30X 6=5400(cm’)

. 200+4=50(cm?*)

CARAE 0,80, 8X0. 8+ (0. 5X0. 4)=2.56(m)
. (8X80)+(16X8)=5(cm)

. 32X 4+ (4X4)=8(cm)

. 3X3X3=27(cm®)

. 8dm=0. 8m

KOSE

.mL

2ERT (r)

g
3. KA KFNIE A kR 7R
(&))
KA R
(4.5X2+4.5X3+2X3) X2=57(dm*)
4. 5X2X3=27(dm*)

(2)30X30X30=27000(cm’)

. (1)30X18=540(m*)

(2)(3041X2418+1X2) X2=104(m)
(3)2dm=0. 2m (3o><3.5><2+3.5x18><2>+§
(0. 2X0. 2) =8400(H)
(4)30X 18X 3, 5+9=210(/1) 2105}:3.5/J\Hq‘§
50+5=10(cm) :
10—5=5(cm) 10X 10X5=500(cm®)
3. KA E AR
(6)

1410, 8X2+(6—1X2) X 1X0, 8X3=32(m")
3. KAEFMIERERER
)

(R S

16 X15X5=1200(dm*) 1200dm®=1200L

.8X8X3=192(dm’)

8X8X8=512(dm*) 512dm’=512L

. 5X4, 5X4X1000--1000=90(dm*)
L12X12X12-+-(18X4) =24(cm)
L7 TXTX7=343(cm*)

3. KA E AR
®
1000 80X50X50=200000(cm’)

(<21

4.

ol

. 50X6X5=1500(cm’)

. 60cm=6dm 10—2=8(dm)

—~feo

200000cm® =200L.

. L. 5m=150cm 150X 40X 60=2360000(cm®)

360000cm® =360000mL.=360L

. (1D50cm=5dm 40cm=4dm 30cm=3dm

5X4X3=60(dm®)=60(L)

(2)10X60=600(km)
1500cm® =1. 5L
15L<C2L  #BAEMIH.
6—2=4(dm)
5—1=4(dm) 8X4X4=128(dm*)
128dm*=128L

3. KA EFNIE ik pY k7R

9

. BTE

R — . (114X 10X 10=1400(cm®)
(2)14X10X 12=1680(cm*)
(3)1680—1400=280(cm®)

vk (1D12—10=2(cm)
(2)14X10X2=280(cm®)

L3X2X1.8—9=1.8(dm*)
. (48X 25X 28—9600) +1000+8=3(/r4

Fl 4X3X2X2=48(dm*)
3. KAFEKIIEFEBETR
(10

3X2X0.5=3(dm’)

L 2X2X 3 (6X5)=0. 4(dm)

. 6X6X (5—4)=36(dm®)

. 3X2X3X3=54(dm*)

=R ERA— A/ NEER A AT 44—24=20(mL)

/N BR AR
R R AR

:24—20=4(mL)
:20—4=16(mlL)

Za%3(1)

.(HC 60X30=1800(cm”)

(2)60 30 40 60X30X40=72000(cm’)

Uj/
oF -



2

[<2]

o — o

72000cm® =721
K 72+12=6(cm)
FIHF:6X6X6=216(cm’)
L6 X6X6=216(cm’)

. (803050 100) X 4--10000X 4, 5=13. 32(75) |

. 30X 30X30=27000(cm®)
27--(8X6)=0. 5625(dm)
ZE%3(2)
K A
3dm=30cm 9L=9000cm*
30X30X13—9000=2700(cm*)
.10em=0.1Im 6cm=0. 06m
=4 +:1800X12X0. 1=2160(m")
YA :1800 X 12X 0. 06=1296(m*)
L (18X5+H8XEX2+6X5X2=196(dm*)
(2)200--8-+5=5(dm)
(3)8X5X0.1+8=0. 5(dm*)
L5XEX(6—5.6)+3=13(dm®)
ERMHASHE
.2 4
A 2 HeBf.3X3X3X2=54(dm’)
3X3X6X2—3X3X2=90(dm?)
F 3 HPF.3X3X3X3=81(dm*)
3X3X6X3—3X3X4=126(dm")
L2X3X(2X3)=36(cm”)

L (TX6FTX5+6X5) X2+7X6X2=298(cm”)

L2.4+[(3— 1D X2]X(1.2X10)=7. 2(dm*)
L6X2X(6X6)=432(cm®)

= SEHEXERMR
1. FHHEX

D
D6 11 B 6+11=2
. % o

(2)6 B 30+6=5

27000cm® =27dm?

CHER .24 (1 2-F3)=4(FD

- qo0— 1L
L11= 120—120

a1 N
.17975(?7'&)

- og13 13y oq_ 10
.13.28—28 (28—13)+28 23
1
2

2)
CDEDMFSBE 512 5+12:1_52
(DL 12 300 12%300231_020
25 (251000 = 1325
.3+<3+5>:%
L (DUB—29) +48 =1

L NBRE B NEW L 2 L7
(48*29)+29:%—3(%3%§KWE#)

oyt
424=5,

gru=23

PR 24 (1+2+3) X 2=8(D) 2

Bk 24+ (14243) X3=12(FD)

2. A%y

NHEL BORAHEE
Al IR R 1dm. 2dm. 3dm. 6dm B . 1K

IR 6dm,

. 30 1 24 Wy f R A PIROR 6. T A HERZ A 6 A

B HEE:30+6=5FF)
LHHE 24+ 6=4(HP)

.54 N A8 By g K R 6, X S8 fE I 2 1T LU

6 34,

. 84 1 24 MR R AHEDE 12,

(84=+12) X (24--12)=14(1)

12+-24=+7

1 —
q al \\'(f;



MR BN :
-9 15 VAR 45, BFLLANHEA 45 4.
L9 12 B EECH :36.72,108, 144w+, £ 100~ |

(DR PEL

.30 A1 18 M KA EE 6.

- 6 1 8 Iy fR/ VAR RUR: 24.

L46—1=45(A)

i MIREA 8 AT ASMHECR 3 4,

B 4R, |
3.5

D

2012 He,

120 Z [} 108, fir LUk HESE Nl BEA 108 4>,

56 R/ INA R RUR 30, FERR 30 K S —FRA

RN 35250

2,34 B RUNARREUR 12, B E 014 12 KA

—.
EAA 3L-12=208 1) -+~ TR
FRUAIEAT 2+ 1=3C00 - AR 7 1 1 LT 13
H.7 25 H) 1
3.5
(2

55 1 30 WU APIEUR 557
Hits 11 AN 5dm, |
ORMARE 4 F1 6 00BN ECR 12,571
I KRN 12 5K,

(30+6) X (18+6)=15(4)

5 i 30 43+24 43=5 ) 54 43

6818 HURUNVARRER 24,7 A 1 FR T AR

FEAERTH 25 H,

32—2=30(%)

145 130 f9 KA WA 15, LR Z A 15 4

Y, 5
3.8

[ B

— ‘&'
T 2RAT @)
jz. L g %o
5.24 32 24 32 KA 3 .3X7_ 21 4 _4X5_20 21. 20
5 5X7 35 7 7X5 35 357 35

B2 B LA
5_5X3_15 4 _4x4_16 15_16 ..,
127 12X3 36 9 9x4 36 36 36 Pk
AR%E 7 2 —Lk,

3. /b

g4 _ 1 . 2 1
Tk =g 1m5=
[

Lol pwmrms.

g 4 _4X3_12 2_2X5_10 12
FEZ 5 =557 15 3 3x5 15 15
10 yid 2 o g
10wt o2 L, R %
1 _1X6_6 2 _2X2_4 1 _ 1X3 __
5 5%x6 30 15 15X2 30 10 10X3

l

3 6 4 3 1 2 1 -
%,ﬁﬁ%>%>%,Eﬂg>1—5>l—o,}:ﬁu4\£1&

Fll g L
5.3 3_24 1_28 3528 24
§ 56 7 56 2 56 567 567 56

i e WP e T

S EN
3. EH
))
8
‘10 0.7
s RN :é ﬁ i \ ==y
Jrk—:0.8=15 15710 PTRMRIR G 131k
ﬁ?ﬁ:;%:o. 70.8>0.7, BT LMEIK G5,

.ﬁ%aédxﬁﬁzzxs Srh 48 438 <<50 434, HD

LN <250 44l BRI BURR 5 B AR A
P50 Sy =N =2

20 <23 B LI SRS 5 AR A e

1 AN
=2
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3. ﬁyztﬁ;%:o. 2 0.2<0. 25,&n%<o. 25, FF 1 4t B NI

o2

wal

. i{j“l”

. 9%12:%(%) 1=+-12==;

STUCINAEZ .
JiE—.0. 25:% I>€
B 0. 251 BRI LLAE M7 2

1 2
[ —0-25 ==0.29

0. 2 < BT LM

.%No.78 3+5=0.6 0.8>0,78>0.6,

Em&>%>a&%&$%1%ﬁ$%—%o

3.8
by
4 Tt

1

1'878 41+-8 2(%%)

1
12

48-+-8=6(#)

RN U] SR SN E A

327 420

5 45 9 45
27

20 .
15 15 TN I T 2

. 81 10 W/ NVAREEUE 40,

18 B 55 43440 43=19 B 35 43
BRNAEHEEEDRIRN A

R/NVAEE

7RIS RN HUR 56, BT LS IR S T A

56+2=58(),

TN 8 YR INA R 56 FF LS I 1S 3 i A, |

Bjg 56—2=54(N).

L8 I 12 [ B /AT BUR: 24, 8 BE 40~50 2

[], 8. 24X 2—1=47( )

3xt2=4x—3
=295
3X5+2=17(4>)

LSR5 A6 ANER 7 AR 4 A TSR

BB 5.6.7 IR /AINAMERUD 4,

4 4 4 5X6XT7=210 210—4=206(4>)
4 | 43 SR N 5% F00R &
1. B4 B4 80 ORlE

(D
29 7 %+ﬁ):%:%
.(1)%*%:%@'@
@++E-Lop
e tata=t

543 12 0
.1 13+13+13 13<1,/§k>l<7l:o

77,3, 17
: 20+(20+20) 20

L. FI4r Bk 8o ik

(2
.11—%:% %_%:%
. (1)1&4+1—14+1%L+%:%
@1—2 =1
.@n—%f%féfﬁz%
@»i-L-Z
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